8221

A=A I-

GIGFIST

B m R

Model Table ‘

Body Parts | Engine Parts |

HeE&ES

82210

e




BREEOFIAFHEIZOWVWT

- 437
COMBmBIIAK, T VDO THTERIRTWHLET,

Wz
PRI I3 — RS, Bk EaillilL T0E T,

HEHA
RBEHRMBICEESRIN T BIEFIE, THEXW AL BEORNKEEARL T X7,
CZIIREANT-BEL BN E L TRBRBHIIA-TED ETOT, HAUKBROEK
IZCZEXTEAESBHEONEHL T,

REIH
EEE TR CACE S N TV A I3, M OERR 2 T (FFE) TF, @ifl
Ry L1ty b TOEETHKTT,

s DR
KETHICHENRTHBEAIT vy 7Y -8R TT, £/, HLOWBBLET
HITRHELBBOFEN TR D G RIBETY,

QHIFEIIRAENoI121 Fx 7L & - Fv MIgEhET,
* FIEREIZREN038 HAr v b - vy MIEGENZT,
A FIFESITRENOI033 /ST — I3 —F—= - £y MIEEhET,

BB EIREDOZD, BETLIL1¥HDET, HBRMMEETHRESEEORE
= ZHEERA N E T,
(1)
Part No. List Price Description Dispo. Code
93440 130 Use94712 C

(ZDEBABI3440D B BEZIZMTIIZEE XN Z L AR L E T, & LI3440DTER A
bhiE, ThEBEUTHERHL, fEESLZVIFGAMTI2EHFHL £ T,)



PARTS LIST FOR THE YANASE SNOW-THROWER

TIPS FOR USING THIS PARTS LIST

1. STRUCTURE
This Parts List has two sections: Body Parts and Engine Parts.

2. NOTES
General standards, name, etc. are described in this column.

3. ORDER-UNIT
The number listed here indicates the number of individual parts prepackaged together.
Because of the prepackaging, parts must be ordered in multiples of this number. For
example, if the number indicatedis 5, but you want to order 7 units, then you are
requested to order 2 sets of 5 parts or 10 parts.

4. STANDARD PROCESSING TIME
This number indicates the amount of time required for parts to be replaced.

5. ENGINE
If the figure is surrounded by a frame, assembly is required. Only parts given an index
number can be individually ordered. Other parts may be ordered only as parts of sets
and kits. Therefore, parts marked with: :
@ are included in the Carburetor Kit #121;
%k are included in the Gasket Set #358;
A are included in the Valve Overhaul Kit #1033.
Notice: Parts numbers may be changed without notice. Please confirm all parts numbers
when placing orders. Some number changes will be indicated within the parts list as
follows:
Part No. ListPrice Description Dispo.Code
93440 130 Use 94712 C
Here, the part number has been changed from 93440 to 94712. Parts listed as 93440 will
be available as long as supplies last. Parts listed under 94712 will then be supplied.



914HST

2000
Parts List



X F
Body Parts

82210111

Top
7 L’—'IAEB ...................................................... 2~5
Engine & Frame
§b;b1§§ﬁ§jgg ...................................................... 6~9
Transmission
o I\D“)[/Eﬂg ............................................. 10~15
Levers & Links
TEJTER «eveesrsevarartransesiuniiiniiiisiiiitiistaasenas 16~17
Frame-driving
jj ] N — EEB ...................................................... 18~1 9
Covers
/EE%B ......................................................... 20~23
Hydraulic System
j_ﬁ.jmqﬁ .......................................... 24~27
Auger & Blower
:/ 9 — [\ gB ................................................... 28~29
Chute
gggggg ......................................................... 30~31
Electrical Equipment
e 7—_ 5y, 77 JEB ................................................... 32~33
Stickers
gg;igaﬁiﬂl ......................................................... 34

Wiring Diagram

2000. 12



7L —LER

8221

2000. 12

914HST

»re




JL—LE 8221

RitiNo.| &8 % & 5 BO& & K 1% L2 A% | R | S T
1 | K082—1010 ALY TV —04 1 25
2 | K060—1750 VY VRUE AL b 9 5
3 | K901—2017—B| ~fAFIL b (SWiT) M6X20 2 5
4 | K060—8452 NyTIAE 1 0.3
5 | K060—1512 TVTY E 50294447 1 0.8
6 | K902—2032—B| /MEAAFRIL b (SWH) M8X 16 1 5
7 | K902—2033 INESHERL b M8X 20 6 5
8 | K060—1530 2 7IFILIAR 1 0.3
9 | K082—1560 FT* Y M4 X8 2 5

10 | K058—7110 Ve yT—Y 1 0.5
11 | K941—2394 EirEd— (Wif) 1/4X1/4X55 1

12 | K929—4286 R4 10X32X3.0 1 5

13 | K801—1251 NALL M (74 B 241L/474) | 3/8—24UNF X 25 1 5

14 | K060—1520 FLvyFa—7 1

15 | K812—1012 =T gy WF12 1

16 | K902—2870 NESAERL b M12X16 (P1.25) 1 5

17 | K082—7120 ~JL MR () 1 0.2
18 | K801—1257 ANEENL S (227748 B 3 241l1/17%) | 5/16—24UNF X 20 2 5

19 | K926—1206 IN S M8 2 5

20 | K060—8530 R PAES 1 0.3
21 | K913—3207 77 v PRARAEL b M6X12 3 5

22 | K838—2206 Y IEF b M10 4 5

23 | K838—2205 YISy b M8 4 5

24 | K061—9520 BksfH = 1

25 | K060—3741 Fa—rI4% 1 0.3
26 | K061—7152—1| BRKt# v & 1 0.3
27 | K255—2440 TLISy F Y 1

28 | K255—2420 bpliijm| 1

29 | K901—2016 AL b M6X16 4 5

30 | K812—1006 Y Py B WF6 4

31 | K061—7152—3| X bL —F 1

32 | K255—2450 2o Fyry T 1

33 | K061—7152—4 | BB» — 1

34 | KO61—7152—5| Ta89F Y (BREr—o) 1

35 | K908—1214 +EZRFF N F Y M4X12 5 5

36 | K050—2290 Bt T 4 4

37 | K838—2104 YRSy b M6 8 5

38 | K902—2052 INESARL b M10X20 4 5

39 | K082—3050 RIS () 1 0.5
40 | K082—3060 BAESETS OF) 1 0.5
41 | K902—2033—B| /MEAAAL b (SWT) M8X 20 4 5

42 | K082—7131 ~L T (f) 1 0.2
43 | K838—2205 YISy b M8 6 5

44 | K028—1910 Bk 7 4 L & ASSY 1

45 | K901—2016 AL b M6X 16 1 5

46 | K902—2033—B| /MEAAAEL b (SWH) M8X 20 2 5

47 | K929—2205 SERES 8X18X1.6 1 5

48 | K060—1850 BE k-2 (82 - T4 04%) ¢ 6X170L 1

49 | K060—1861 BEE—2 (748 -T2V Y) $ 6X350L 1

50 | K836—0013 B &) S i 413 4

2000. 12



8221 7L —LEf

v*t 914HST 2000. 12




7L —LE 8221
RiiNo.| B & & 5 BORs & 1% = B |RiIEH | T
51 | K082—7510 BB Z T — (F) 1 0.2
52 | K082—7520 BERZT - () 1 0.2
53 | K060—1831 e a .y ZEtE 1 0.2
54 | K838—2104 +SEEF o b M6 1 5
55 | K060—8510 TRY-2 1
56 | K082—8462 IyvavTIry bhs— 1 0.1
57 | K901—2016—B| AAANL + (SWIT) M6X16 1 5
58 | K082—8520 HSTH/3— 1 0.1
59 | K926—1208 INF S M10 1 5
2000. 12



8221 EH{=ZESB

1”'t 914HST 2000. 12



B}H=EE 8221

R¥No.| # & & 5 & Bl 4 B ¥ H BB RN | FEdE T
1 | K040—1460 A 10X10 1
2 | K061—1460 LoN—FK R b 1 0.2
3 | K929—4206 ErES 10X24X2.3 1 5
4 | K930—5228 "y 3X20 1 10
5 | K824—1207 JEfT & v 6X16 1 5
6 | K930—0208 #HyY v 2X16 1 10
7 | K715—1101 FryvavyIT—Yy B-45T 1 0.2
8 | K936—1015 i/ 1F 00 B S15 2 10
9 | K084—9020 AG VAT gV ATY VS 1
10 | K083—2010 EfFIvav HB05 1 2.0
11 | K941—1107 F— (k) 5X5X22 1
12 | K902—4034 INEASHRL b M8X25 (7T) 6 5
13 | K929—4275 FHiS 8X22X2.3 6 5
14 | K838—2205 H ISy b M8 6 5
15 | K082—1230 Va4 vh (TN 1 0.5
16 | K084—1260 FANZ VY 1
17 | K902—4031 INES A AL b M8X12 (77) 2 5
18 | K082—1210 LAV | 1 0.8
19 | K081—1241 WRBIE TS OBy b ASPFL204W7-118V2| 2 0.5
20 | K902—2032 INERFA AL b M8X16 4 5
21 | K838—2205 + Sy b M8 4 5
22 | K0o60—1220 H v R T =) 1 0.5
23 | K058—1360 ERES 8X32X%3.2 1 5
24 | K902—4032—B| /NESAFRL b (SWH) M8X16 (7T) 1 5
25 | K831—1327 VAL b LA27 (L v F) 1 0.5
26 | K831—1321 VAL b LA-21 (L v F) 1 0.5
27 | K705—4248 TaIYR—V AT Y 1 0.3
28 | K082—3011 e~ v+ (F) 1 0.8
29 | K082—3022 B~ o v b (k) 1 0.8
30 | K902—2068 MNESRAERL b M10X100 (4 9)| 2 5
31 | K838—2206 + ISy b M10 2 5
32 | K902—2032—B| ~AARNL L (SWI) M8X 16 1 5
33 | K838—2205 H IS b M8 1 5
34 | K082—3031 BB v by E 1 0.1
35 | K902—2032—B| /MNESRAXRL + (SW) M8X 16 4 5
36 | K0O60—1250 ~JL b5 2 0.2
37 | K929—4275 SRS 8X22X2.3 4 5
38 | K902—2033—B| /ME/AAL b (SWItH) M8X20 4 5
39 | K060—1410 Y VATFUY g VT — A 1 0.3
40 | K929—3207 RS 12X24X2.3 2 5
41 | K930—0230 HY Y 3X25 1 10
42 | K060—1431 AR A 1 0.1
43 | K902—2043 INESHER L b M8X70 1 5
44 | K929—2205 SRS 8X18X1.6 1 5
45 | K916—5205 INERHET Y b M8 (2f#) 2 5
46 | K082—1400 A A 1 0.8
47 | K902—4053—B| /MESAFRL b (SWH) M10X25 (7T) 4 5
48 | K941—1184 F— (Wjh) 6X6X35 1
49 | K902—4054—B| /NMESAARL b (SWIT) M10X30 (7T) 2 5
50 | K929—2206 RS 10X22X 1.6 4 5
2000. 12



8221 #NI=ER

v*t 914HST 2000. 12




BN{=ZEE 8221

RtiNo.| % % & 5 w8 £ & ] = % |REHN | EHETH
51 | K061—1442 TuIF Yy gy T— A 1 0.5
52 | K929—2209 SRS 17X30X3.0 1 5
53 | K930—0241 gy 4X32 1 10
54 | K931—1129 ZAFY TV 5X18 1
55 | K082—1320 Turryyagvyr— 1 0.3
56 | K938—1723 R=AXRT7YVF 6203LLU 2
57 | K936—1017 WAL S17 1 10
58 | K061—1510 A —HTV—F Y 2 —Assy 1 0.5
59 | K929—9204 YRS 6X16X1.6 1 5
60 | K901—4015—B| ~AFRL b (SWHT) M6X12 (7T) 1 5
61 | K705—5247 A —HBEZ TS v 1 0.3
62 | K941—1107 ¥ — (Mt 5X5X22 1
63 | K902—2033—B| /MEAAL b (SWHT) M8X 20 2
64 | K929—2205 SRS 8X18X1.6 2

2000. 12



8221 > hO—ILER

v*t 914HST 2000. 12

10




> hbA—JLER 8221

HfNo.| # % & B 5 S A 14 [ A% | RO | T
1 | K040—2670 N e = 2 0.1
2 | K908—1213 +ZRUF F NN F D M4X10 2 5
3 | K838—2102 + Sy b M4 2 5
4 | K053—9110 A 1
5 | K060—3570 Va—bhEFLIN— 1 0.3
6 | K706—1210 FsEA T ) v 1
7 | K929—3207 SRS 12X24X2.3 1 5
8 | K806—6204 INESRAEUF b M10 1 5
9 | K081—3930 XY 12—40%k 1 1

10 | K050—4131 Y oA 1 0.2
11 | K803—0227 ANEREHIN D M8X 20 2 5

12 | K058—3110 TLE 4

13 | K908—1214 +FZIAtF IR Y M4X12 4 5

14 | K082—3100 e 1 2.5
15 | K082—3120 BfE S 1 1.5
16 | K913—3308 73 VMRARL N (B) M6X 16 8 5

17 | K082—7203 F A EE A 1 0.3
18 | K931—1111 2SIy 2.5X22 2

19 | K082—7211 TR E S 7 — 1

20 | K931—1121 2T Ty 4X18 1

21 | K082—3290 XY 12—57H7 # 1

22 | K081—0331 A =7 1

23 | K081—3140 SITNT—LhT— 1 0.2
24 | K081—7230 IRR— LHSA-8 2

25 | K838—2205 +SHEF v b M8 2 5

26 | K082—3190 FEHET 1 0.2
27 | K921—1205 75V Fy ML=V 3D M8 2 5

28 | K082—3131 FEERY T PT — A 1 0.5
29 | K931—1132 2TY Y 5X25 1

30 | K931—1117 2TY Y 3X25 1

31 | K705—3226 2Ty vy 1

32 | K082—3310 FERT — L 1 0.3
33 | K082—7301 T MT = LRVISE 1

34 | K902—2032—B| /MEAfAL & (SWIH) M8X 16 1 5

35 | K929—2205 S 4 8X18X%1.6 1 5

36 | K902—0037 INESAFL b M8X40 (11T) 1 5

37 | K060—3430 LoN—H% oy R 1 0.2
38 | K916—1204 ANAT Y b M6 2 5

39 | K926—2206 IN S M8 (35) 1 5

40 | K835—2554 Ty Fxy F (L) M6X1 2 0.2
41 | K061—3441 LIN—FR%T — 4 1 0.3
42 | K061—3441B PEYERR 2 0.3
43 | K061—3650 PAE/ Ay A Al 1 0.2
44 | K806—3205 F4avFy b M12 1 5

45 | K081—7241 Tk =Y 1 0.3
46 | K081—7310 H£TIHEAL Vb M8 X8 2 5

47 | K082—0600 Z A4y F YR 1 0.2
48 | K082—7252 ST MT— A 1 0.5
49 | K081—7260 b D N 2 1

50 | KO81—7270 V7 b7 = L s 1 0.2

2000. 12

11



8221

a2 bO—JLER

103

©\@ TP1z7
25:@/ W/@

1
10

b

914HST

12

2000.

12



O bO—JLER 8221

RiiNo.| & & & & moo® & 1% L2 B | RbHn | T

51 | K937—0208 EVvy E8 2 5
52 | K082—7280 ANV AN Ft 1 0.2
53 | K082—7290 VA VEYS 3=F 5 X 2
54 | K901—2015—B| iR b (SWfH) M6X12 2 5
55 | K936—1015 il 1 8 S15 2 | 10
56 | K902—2033—B| /NESALRNL + (SWIT) M8X20 2 5
57 | K082—3110 757 o FEH4ER 1 0.5
58 | K059—3152 T — LT 57y b 1 0.3
59 | K929—4275 ERES 8X22X2.3 1 5
60 | K902—4033—B| /MNESAARL L (SWH) M8X20 (77) 2 5
61 | K938—1367 =L RFTYYH 62627 1
62 | K081—0081 T — A 1 0.2
63 | K838—2104 H ISy b Mé6 3 5
64 | K929—1204 S 6X12X1.6 1 5
65 | K806—6203 INESAUF v b M8 1 5
66 | K916—6205 INERFT v b M8 (3f&) 1 5
67 | K901—4020 NAEEL b M6X35 (7T) 1 5
68 | K916—1204 NAF b M6 1 5
69 | K082—3481 F—=HrFyFLIt— 1 0.3
70 | K828—2192 T3V Ty a 80F1220 1
71 | K929—3207 RS 12X24X2.3 1 5
72 | K930—5228 E (R 3X20 1 10
73 | K082—3330 FIAY T =5 () 1 0.5
74 | K5377—27461 | 7—427 v ¥ a 1
75 | K929—3207 SERE S 12X 24X 2.3 1 5
76 | K930—5228 gvy 3X20 1 10
77 | K053—3340 VoL —t 1 0.3
78 | K929—2205 SRS 8X18X1.6 2 5
79 | K930—5228 - 3X20 2 10
80 | K060—3500 XA —HII9FI4Y 1 0.5
81 | K824—1295 SRl Y~ 8X18 1 5
82 | K930—5228 2| Rl 3X20 1 10
83 | K061—3520 AWy FALIS—T I 4 o b 1 0.2
84 | K901—2003—B| ~SFALNL b (SWT) M5X12 2 5
85 | K060—3550 AWy LT 4 Y 1 0.3
86 | K061—3510 ZWy R L IN— 1 0.3
87 | K927—3106 M/~ 3 R4 L8 1
88 | K929—2205 SRS 8X18X1.6 1 5
89 | K860—3203 F4uar+y b M8 1 5
90 | K822—6301 #Y (Fg) 1
91 | K082—3490 =¥ 12—50R7T ¥ 1
92 | K082—3231 YA KT yFLIS—Hh 1 0.5
93 | K929—2209 S 17X30X%3.0 1 5
94 | K930—0240 vy 4X30 1 10
95 | K082—3241 YA RTFyFLIN—T—A 1 0.5
96 | K082—3210 YA 2T yFLN— () 1 0.3
97 | K082—3220 A F2T79F - (F) 1 0.3
98 | K902—2033 INESAEL b M8X 20 4 5
99 | K838—2205 YIS b M8 4 5

100 | K56731—56121| =¥ 12—347 1 2

2000. 12

13



8221 > hO—JLEp

"’,’t 914HST 2000. 12

14




a2 bO—-JLER 8221

RiiNo.| & & & 5 v OB & K i L B |k | T
101 | K083—3250 A FIFyFay F7—4 1 0.3
102 | K931—1132 2Ty Ty 5% 25 1
103 | K916—4205 INESRAF b M8 6 5
104 | K082—3280 AT 9FRTSY 2 0.3
105 | K083—3540 FvigvELLMS 3
106 | K082—6000 SRS 12X22X1.6 1 5
107 | K005—4540 /s 3 g4 Mi2 2 5
108 | K902—2038—B| /MESAAEINL b (SWHY) M8X 45 2 5
109 | K929—9604 SERES 6X18X1.2 2 5
110 | K083—7021 A KI5 9FT -4 (H) 2 0.3
111 | K082—7231 F & # B 1 0.3
112 | K060—3352 T —FLv— 1 0.5
113 | K082—6000 R 12X22X 1.6 1 5
114 | K930—5228 #HY 3X18 1 10
115 | K082—3530 =¥ 12—45Pr 1 1
116 | K082—3360 TL—FY oA 1 0.3
117 | K931—1131 2T Ay 5% 22 1
118 | K931—1116 2Ty 3X22 1
119 | K060—3371 TL—F1) s B 1 0.3
120 | K929—4206 SRS 10X24X2.3 2 5
121 | K937—0208 EY v E8 2 5
122 | K060—3390 ETY v 1 0.3
123 | K929—4206 SRS 10X24X2.3 1 5
124 | K937—0210 EY v E10 1 5
125 | K060—3340 7L —F%7—4B 1 0.2
126 | K929—2205 FHi 4 8X18X1.6 3 5
127 | K930—0217 HY 2.5X16 3 10
128 | K060—3331 TL—F7—AsA 1 0.2
129 | K060—3321 25 9F AT 1
130 | K929—2204 SEHE S 6X13X1.0 2 5
131 | K930—0217 FIRpZ 2.5X16 2 10
132 | K082—7240 #H T — 12—20—40 1
133 | K931—1123 2Ty Y 4X22 2
134 | K929—2205 SRS 8X18X1.6 3 5
135 | K931—1122 2Ty Iy 4X20 1
136 | K927—1106 M S 5 fE4 M8-1L 1 5
137 | K931—1117 2Ty I 3X25 1

2000. 12

15



EITEB

8221

2000. 12

16

v*t 914HST




EfTE 8221

RiiNo.| & 7 & 5 ®OB &% W 1% B | RN | BEHE T8
1 | K082—2250 iz i AV 1 2.0
2 | Ko60—2312L T4 EITTIV—4 () 1 0.8
3 | KO60—2312R T4 RKITT7L—4 (F) 1 0.8
4 | K906—1238 ARSI b A1-M10X 25 4 5
5 | K838—2206 Y IEF v b M10 4 5
6 | K060—2330 TARKT 7L —LYFFE 1 0.2
7 | K902—2052—B| /MESAFRNL b (SWI) M10X 20 2 5
8 | K060—2350 Fry¥gvay R 2 0.3
9 | K929—2206 SRR 10X 21X 2.0 6 5

10 | K916—4206 INESAT b M10 4 5

11 | K930—5273 E: | = 3X16 2 10

12 | K0o60—2151 - 230X 72X 31 2 0.5
13 | K060—2410 drly (OK) 2 0.5
14 | K060—2450 #hg () 2 0.5
15 | K030—0170 AR AT 2 0.8
16 | K938—1724 R—=ARF7TY VY 6204LLU 12

17 | K252—0350 drin S 12

18 | K929—4276 SRS 10X25X3.0 6 5

19 | K902—2052—B| /MESAERL b (SWH) M10X20 10 5

20 | K059—2210 FH AN — A% (k) 1 0.8
21 | K059—2220 T2 AN - A% (H) 1 0.8
22 | K953—3202 FY Ry TR C-PT1/8 2

23 | K060—2100 ru—3 27k y b 2 0.8
24 | K081—0172 TV FFL— 2

25 | K902—4053—B| /MESALRL b (SWHT) M10X25 (7T) 2 5

26 | K941—1318 F— (W) 7X7X35 2

2000. 12

17



HIN—ER

8221

2000. 12

-‘,,—t 914HST

18



HIN—HF 8221

RiiNo.| & & & & wO&m &% 1% E% | RIEMN | R T
1 | K0o60—8151 8o HIN— 1 1.0
2 | Ko60—8141 L DA 2 0.1
3 | K838—2104 Y5 EF b M6 4 5
4 | K060—8161 AV oy MR (£) 1 0.2
5 | K060—8171 A v 3y Ml (5) 1 0.2
6 | K060—8180 HIS—F ¥ v F 4
7 | K913—3307 77 v IAAEFRL N (B) M6X12 4 5
8 | K838—2104 YIS b M6 4 5
9 | K060—8190 A AR ELF 4

10 | K060—8250 v 7 F BB 1 0.2
11 | K902—2032—B| /MESAARL b (SWIT) M8X 16 4 5

12 | K082—8100 AYF v b 1 0.3
13 | K901—2016—B| ~fKiL b (SWiT) M6X 16 2 5

14 | K061—8130 7 IHF 1

15 | K061—8500 FHBRAR 1

16 | K901—2016—B| ~AFRML b (SWIT) M6X16 2 5

17 | K056—2640 TLINY R 2

18 | K056—2540 Ty oIS 2

19 | K908—1236 F2ZIRAFF NN R Y M6X 12 2 5

20 | K838—2104 Y IWEF v b M6 2 5

21 | K083—8200 HALY V& 1 0.3
22 | K083—8200—1 | M4 2 5

23 | K083—8200—2| ‘FH:%: 10X16X0.5 2 5

24 | K838—4106 INEAFETa s F o b M10 2 5

25 | K929—1206 SRS 10X18X1.6 2 5

26 | K082—3810 KPR (F) 1 0.5
27 | K082—3820 ENEN O TN aY 1 0.5
28 | K929—2205 SRS 8X18X1.6 4 5

29 | K902—2033—B!| /NEAALRNL F (SWIT) M8X 20 4 5

30 | K082—3830 P.NZN Y 1 0.3
31 | K902—2032 INEFSEAR L b M8X 16 4 5

32 | K838—2205 HSEF v b M8 4 5

33 | K082—3840 ARAE (47) 1 0.3
34 | K082—3850 AR (HI) 1 0.2
35 | K902—2033—B| /ME/AKRL b (SWIT) M8X20 2 5

36 | Ko60—8212 A 78— 1 0.2
37 | K913—3307 77y PHARARL N (B) M6X12 6 5

38 | K929—4276 SEHES 10X25X3.0 1 5

39 | K060—5420 VT NF—T2 530L 1

40 | K834—1001 70 Ay b C30-SG-12A 2

2000. 12

19



8221 HIESE

(A) DETAIL

o
e

2000. 12
FE 914HST .




MESR 8221

HiiNo.| & & & 5 @ % K 14 - RS | R | M T
1 | K058—2510 WE Sy r—v 1 0.5
2 | K941—1180 FirEd — (ML) 5X5X18 1
3 | K058—1380 V7=V 1 0.5
4 | K929—4276 -4 10X 25X3.0 1 5
5 | K902—2051—B| /IMEAFAANL T (SWit) M10X16 1 5
6 | K060—2740 oy v 1BG-35 1 5
7 | K082—2520 254 F&H 1 0.5
8 | K902—2034—B| /NENFfARNL + (SWH) M8X 25 4 5
9 | K0o60—2710 90° TX (#00.9) 1/4PTXPF X X 1

10 | K929—2205 R4 8X18X1.6 5 5
11 | K916—4205 NESRAF Y b M8 2 5
12 | K060—2530 k=2 TILE 1

13 | K060—2540 MR — R 1

14 | K836—1016 R G 1

15 | K060—2560 R—=ZXT Iy b 1

16 | K901—2016—B| SAARNL b (SWIT) M6X 16 2 5
17 | K060—2721 90° TAFR (£H0.7) 1/4PTXPF £ X 2

18 | K834—0011 Za*B IR C30-BW-16-2 1

19 | K060—2550 k— A2k 1

20 | K060—2600 E ) AT — AN TR 1 0.4
21 | K060—2600—1| V& —Y 2 TFY) v 1

22 | KO60—2600—2 | 7SIV THEBI T — 4 1

23 | K060—2600—3| &£ —n 1

24 | KOBO—2600—4 | WL THEBT — LTI v b 1

25 | K060—2600—5| 27V v 1

26 | KO60—2600—6| 71 bk H3— 1

27 | K060—2690 WENSLT LIS — 1

28 | K916—6205 NESHEF 5 b M8 (3f#) 1 5
29 | K082—2680 =% 8—35Wk~r 1 1

30 | K913—3307 73 v oRARL Y (R) M6X 12 4 5
31 | K060—2611 HWES Y v & (%) 1 0.5
32 | KO60—2611—1| Y Y v &F2—7 Ty RAanN—Lty b 1

33 | K060—2611—2| ¥X by F 1

34 | K060—2611—3| @y KH/v— Y yEFa-TlEy M 1

35 | K819—8017 VESA I WPL—40 1

36 | KO60—2611—4 | /8o F v HSD—40 1

37 | KO60—2611—5| /Sw o7 v TCS—40X%X32 1

38 | KO60—2611—6| /Sw F Vv SKY—25 1

39 | KO60—2611—7| A& L —/% DHS—25 1

40 | K824—1229 UEfT & v 10X 45 1 5
41 | K824—1232 R & 10X60 1 5
42 | K929—4276 SERE S 10X25X%3.0 2 5
43 | K930—5228 vy 3X20 2 10
44 | K060—2651 WELY V& (a—=Y ) 1 0.3
45 | K060—2651—1| Y YV X F 21— Oy Fhn—kty b 1

46 | K060—2651—2| ¥ X by F 1

47 | K060—2651—3| T v FA/3— YYYEFa-TlEy M 1

48 | KO60—2651—4| ¥ X b v 1

49 | K060—2651—5| 7Sw %Y (OSv o7 v 7 HSD—30.TCS—30X 22| 1set 5
50 | KO60—2651—6| OV ¥ & 1BP—9 1 5

2000. 12

21




8221 HESD

"”'t I14HST 2000. 12

22




HMERS 8221

BiliNo.| & & & & & i F5iN # by AR | BEHA | Y T
51 | K929—3206 R4 M10 1 5
52 | K806—1204 NERAUF v b M10 1 5
53 | K060—2651—7| /SvF* Y Sy 27 v 71f) 1BP—16.T2P—16 | 1set 5
54 | K951—5030 oy vy 1B—G30 1 5
55 | KO60—2651—8| # A b —) DHS—16 1
56 | K058—2630 Ty v EEfTE v 1
57 | K929—2208 V-4 15X 28X 2.5 2 5
58 | K930—0239 - < 4X25 3 10
59 | K929—2209 SERE S 17X30X3.0 1 5
60 | K060—2811 WA — X 900LX PF # A 1
61 | K060—2832 HWEF — R 1200LXPF » A 1
62 | K060—2841 WE S — Z 980LXPF * 1
63 | K060—2851 WHEER— X 1200LX PF X % 2
64 | K853—1201 Ty vy 1
65 | K060—2881 90° TLE 1/4PTXPF £ 6
66 | K060—2891 45° TIL:E 1/4PTXPF £ X 3
67 | Ko60—2821 WIE R — 950LX PF » % 1
2000. 12

23



8221 #*—#4 - 70O7EB

1,’.1: 914HST 2000. 12

24




*—A-T078 8221

RiiNo.| # & & 5 5 S S A 4 L2 g | FbH | Y T
1 | K058—5310 Yok —LFYEY TR 1 15
2 | K811—2124 AANY— TC30458 3
3 | K058—5430 7 — 77 R E 1 0.8
4 | K939—3405 Fe)ST—=FRTY VS 30205 1
5 | K053—5370 A —H 2
6 | K941—1179 A7 — (M) 7X7X60 1
7 | K702—3206 Yok — 1 1.0
8 | K938—1125 R=AXT7TY VY 6205 1
9 | K058—5360 RF7Y VYIS F—F 1

10 | K951—2060 oy v G60 1 5

11 | K053—5330 7 SAL R 1

12 | K060—4300 * — A il 1 1.0
13 | K941—1320 Fird— (M) 7X7X45 1

14 | K702—4207 Yok — Lk =)L 1 2.0
15 | K938—1126 BTy VL 6206 2

16 | K053—5391 AR 1

17 | K053—5320 Vot — LKy o AER 1

18 | K902—2033—B| /MENFAERL b (SWH) M8X 20 3 5

19 | K709—2111—D| ¥ v —KJ)L (N - SWft) M10X25 2 30

20 | K910—4118 NARFIEA XY (K 3I5%) M8X12 1 5

21 | K952—1204 755 PT1/2 1

22 | K952—1202 755 PT1/4 1

23 | K812—1008 2y Ay B WF8 1

24 | K902—2032 NSRRI b M8X16 1 5

25 | K902—4053 INEASHE L b M10X25 (7T) 1 5

26 | K916—4206 NESASF b M10 1 5

27 | K061—4512 7y 1 1.0
28 | K953—2202 FYR=Zy TN B-PT1/8 1

29 | K061—4520 VA B TP 1 1.0
30 | K954—0015 X7V ISHF v b AN15 1

31 | K955—0115 N7YVITHT YV % AW15 1

32 | K061—5220 A=Ak | 1 1.0
33 | K938—1726 E=ARTYVH 6206LLU 2

34 | K061—5440 RN — 1

35 | K061—5450 AR —H 1

36 | K941—1221 Fird— (Fh) 7X7X50 1

37 | KO60—4550 Ty s 1 0.5
38 | KO09—0480 Y FFL—} 10X32X3.0 1

39 | K902—4052L | /MNEARARLF (EXY) M10LX20 (77) 1 5

40 | K926—1208L | /Y3 ME4E (ExVH) M10L/VE 1 5

41 | K060—4011 *—Hr—2 1 1.7
42 | K838—2206 +IEESF >y b M10 6 5

43 | K828—1223 AZES 70B-3030 2

44 | K941—1120 A7 F — (ML) 7X7X45 1

45 | K058—5210 A=A 1 1.7
46 | K902—4053 MNESAFL b M10X25 (7T) 1 5

47 | K916—4206 INESFAT v b M10 1 5

48 | K060—4120 T —F 1 0.1
49 | K906—1424 FRALTEA L b A1-M8X25 (7T) 7 5

50 | K016—9510 S 8X25X3.2 7

2000. 12

25



8221 F+—4 - JOTEB

1”'t 914HST 2000. 12

26




F—74 - JO78 8221

RiNo.| & & & 5 mom % 14 o A%k | RIEHh | B T8

51 | K838—2205 +SEF b M8 21 5

52 | K926—2208 AP IS M10 (35) 4 5

53 | K061—4211L | #* —# ¥ — 2 filiR (%) 1 0.3
54 | KO61—4211R | * —F# ¥ — 2tk () 1 0.3
55 | K902—2032 AN AVERV M8X16 14 5

56 | K941—1195 AT F - (ML) TXTX24 2

57 | K053—5121 X —H R A 2 0.8
58 | K902—4032 IINEANFFL b M8X16 (7T) 4 5

59 | K082—4310L | *—# () 1 0.5
60 | KO82—4310R | & —# (f) 1 0.5
61 | K828—1123 TV 30X34X30 2

62 | K061—5170 d—H AR 2 0.5
63 | K938—1725 A= LRT7Y YV 6205LLU 2

64 | K936—2052 JTHCHILE » #& R-52 2 5

65 | K016—0100 Y= 9T 2 5

66 | K906—3239 FRALTE R L b B-M10X30 6 5

67 | K838—2206 $IHEF b M10 6 5

68 | K902—4054 NEFSAFR L b M10X30 (7T) 4 5

69 | K053—5410 FYhy v 252 1

70 | K902—2053 INEASAER L b M10X 25 2 5

71 | K838—2206 H ISy b M10 6 5

72 | K831—3343 VAL b LB43 (L v V) 2 0.5
73 | K902—2055 INEASAERIL b M10X35 2 5

74 | K929—4206 S 10X24X2.3 2 5

75 | KO60—4130 A 2 0.2
76 | KO60—4140 V) BElEANL b 2

77 | K926—1208 A M10 4 5

78 | K916—4256 INEASNFET Y b M10 (P1.25) 4 5

79 | K028—5410 YA Fv—A 1

80 | K906—1238 FMALTAR L b A1-M10X25 2 5

2000. 12

27



a1— MER

8221

2000. 12

28

.‘,’.t 914HST




21— M 8221

RHENo| & & & & w R & W i = BB | RAEA | EAE T
1 | K082—6110 va— b 1 03
2 | K081—2200 Va—=bFr o TN, F Y 2
3 | K082—6220 Va—btFr ol 1 04
4 | K061—6230 AR ) 1
5 | K838—2104 YIRSy b M6 4 5
6 | K082—5150 Ya—bHAFR 3 02
7 | K082—6210 Ya—bFv T2 1 04
8 | K061—6250 T — 2
9 | K807—1004 WS WW-8 4 5
10 | K929—2205 SRS 8X18X16 4 5
11 | K930—5228 Y 3X20 4 10
12 | K705—3249 Va—bEERATY v 1
13 | K060—5111 va—bEY 1 05
14 | K060—5210 VN 1
15 | K901—4014—B| ~AFL b (SWI) M6X10 (7T) 6 5
16 | K082—8660 F—HAN—-F R 1 02
17 | K060—5340 E—X HN— 1
18 | K901—2016—B| St b (SWiT) M6X 16 1 5
19 | K929—9704 RS 6X18X16 2 5
20 | K906—1222 FRRAUIA AL b A1-M8X 16 4 5
21 | K926—1204 IS S M6 3 5
22 | K838—2205 YIS v b M8 4 5
23 | K060—5332 E—2T 57y b 1 05
24 | KO58—6220 Y—7F 4 H—F 1
25 | K901—2015 SAKRNL b M6X12 4 5
26 | K838—2104 HS5EEF b M6 4 5
27 | K901—2016—B| »~ALRL + (SWiH) M6X16 3 5
28 | K061—9540 Tyovy 1
29 | K082—3610 Ya—bEF74Y 1 03
30 | K824—2207 BEf v 6X16 1 5
31 | K930—0208 HY v 2X16 2 10
32 | K929—2204 RS 6X13X10 1 5
33 | K016—0070 TAXYATF — 1
34 | K901—2017—B| AR+ (SWHt) M6X20 1 5
35 | K929—9704 SpE 4 6X18X16 1 5
36 | K929—9704 RS 6X18X16 3 5
37 | K060—8620 E—4 1 05
38 | K908—4236 B =i b PAT BV W\ S M6X12 3 5
39 | K901—2017—B| ~AHNL b (SWH) M6X 20 1 5
40 | K060—5310 E—-A2 XY 1 03
41 | K05411—00422| X 7Y v 7y 4X22 1
42 | K929—2204 SRS 6X13X10 6 5

2000 12

29



8221 EiF

(A) DETAIL

"”‘t 914HST 2000. 12




BRE 8221

RHNo.| B W F 5 B i B4 Fr b il | RN ) EUET 8
1 | K058—1130 Ny TN TSy F Y 1
2 | K753—1114 IN T 42B20L 1 0.3
3 | K060—8041 Ny T (=) F—=Tn 1 0.2
4 | K060—8022 Ny T (+) r—70 1 0.2
5 | K060—8030 AL =8 =TI (LILE—-43—F) 1 0.2
6 | KO60—8490 Ny FYMITARIL b 2
7 | KO82—8470 Ny T 1
8 | K920—1204 o b M6 2 5
9 | KO60—8480 Ny T YT L 2
10 | K061—9450 AANT VT 1 0.2
11 | K050—7431 54 bZ24 oF 1
12 | K050—7420 ANy FF4 b 2 0.2
13 | K050—7420—1| 4 FL v X (v F V) 2
14 | K050—7420—2 | ®BEk 2
15 | K834—0004 20 Ay b C30-NG-79-C 2
16 | K928—2205 b} BRIV DR < P 2 B-M8 2 5
17 | K902—2033—B| /MNESAHEAIL b (SWH) M8X20 2 5
18 | K751—1001 v Ay bR 9 F 1 0.3
19 | K901—2016—B| ~FAARAL b (SWI) M6X 16 2 5
20 | K082—8760 ZA wF Ty b (F—F) 1 0.2
21 | K901—2016 SNAFIL b M6X16 1 5
22 | K929—9704 SpE S 6X18X1.6 1 5
23 | K838—2104 YISy b M6 1 5
24 | K082—8710 UL —HiftEH 1 0.2
25 | K902—2032 INEANHARL b M8X 16 1 5
26 | K838—2205 + IS b M8 1 5
27 | K082—8010 AL VIN— R 1 1.0
28 | K754—1108 FER Y —7 7 4 24 FAssy 1 0.1
29 | K061—9480 La—ZXKRy o 2R 1
30 | K757—1020 ka—X 20A 1
31 | K081—8310 IYDV AL wF 1 0.1
32 | K752—1004—2| TV PV AL yF H3— 1
33 | K752—1004—3| = ¥ v &% — 1
34 | K081—0510 EHL IS — A 4 5 F 1 0.2
35 | K908—1205—B| +=#F~Nx Y (SWiT) M3X16 2 5
36 | K061—9461 Y —TF 44 9 F 1 0.2
37 | K908—1205—B| +FEF+~/hx P (SWHH) M3X16 2 5
38 | K060—8670 JL— (£—-4) 2 0.2
39 | K081—0520 t—7F5 4 INCY L — 1 0.2
40 | K082—8630 Va= MEMAL 9 F (V34 AT 19 Y) 1 0.2
41 | K082—8640 JEEEE2A v F 1 0.2
42 | K060—8650 ISIANF 4 b 1
43 | K838—2102 YIRSy b M4 2
44 | K838—2104 YRS b M6 1
45 | K754—1108—2| 51Xt —7F 1 24 v FF v v 7 1
46 | K901—2016 NAARL b M6X16 1 5
47 | K081—0530 2% —2HNOY L — 1 0.2
48 | K901—2016—B| SR b (SWIT) M6X16 2 5
49 | K926—1204 IS X B M6 2 5
50 | K929—2204 i 4 6X13X1.0 2 5
2000. 12

31



8221 X7 v HEB

v*t 914HST 2000. 12

32



A7y hEs 8221

HitNo.| H & & 5 24 A % i 4 = B | RuA ) Y T
1 | K060—9131 AT v (N h—E) 1
2 | E000040 5 UL (BB 1
3 | E000041 s )L (777 Ei8R) 1
4 | S9999—0006 HIRNL (BED=HID) 1
5 | S9999—0009 LSRN (X — kv —2) 1
6 | S9999—0010 LSRN (TuTdfEkg~—2) 1
7 A5 v H (914HSTK) 1
8 25 v A (914HSTH) 1
9 AF5F9H# (YANASE) 1
10 2Ty B (91484E/ S 1 L) 1
11 25w A1 (BIHRE-771219%) 1
12 | K060—9152 2T 5 (BESH) 1
13 | K060—9162 AT B (BRERA) 1
14 | K060—9212 25 v (HRA) 1
15 | K060—9222 27 v Hh (HRE) 1
16 25w (BENO) 1
17 AT v Hh (Brés/S% L) 1
18 25w A (FCRRIX) 1
2000. 12

33



EC#RX]

A
g X1

8221

£6 4y |
THEH

YUO£C Y E—EY
—y—
o] S—e—e
g2 h_d
Fa o W, L
LT =
i —_— El g4 1S 9 1ivg

N LAtk

c
3
0

g

I

1L AN

PR FPS

My re

O SR
[CIR P4 Amv
9

JioT
Jj v+k

ON=A111

-1 &—F

Ed

Yy

¥ _Ir

Uy ' J

— |
— — ]
] PN . L L ;
y-T4 El |= 1 =
o

SEsIrE]

31 [I¥8

(vae) £45 LY
EAgy—13 1)e

£L)bYE—KY

2000. 12

34

1,,..& 914HST




I
Engine Parts

Model 294447 Type 1200—E1

Top
3/ I) > g“xcfﬂg ................................................... 36~37
Cylinder
) Ty RER covveeeereencteeniiieintiiineiiieiene, 38~39
Cylinder Head
AT —TZR—IVE - Oy HHINEp -oeeeee 40~41
Intake Manihold & Rocker Cover
75‘/79‘\"7"'5Z I“/EB ........................ 42~43
Crankshaft & Piston
;F v 7“l/9§[$ ................................................ 44~45
Carburetor
177I)_j—1é§|3 ............................................. 46~47
Air Cleaner
7_|-,f)[,/7“)|,__7° ............................................. 48~49
Oil Group
%%@EB ......................................................... 50~51
Electrical Equipment
9*4%5!:% ...................................................... 52~53
Blower Housing
o |\|:|_)[,.-773g[3 ................................. 54~55
Control & Muffler
;(;9-—-51%5-—-51%5 .......................................... 56~57
Starting Motor
jj;({r\y f~12‘y h .......................................... 5EY““59
Gasket Set
4—,7 |‘/\°—'VE‘B ............................................. 60~61
Kit Parts

35

2000. 12



8221 > L 4HB

¥

276 ©
615 A~
691
552 &
BTEENTOBEBRET v £ T UBRTT,
KENEBE LI S o THBR T AN BETT, UNRTIo27LESBLTLEEL,
2R No.271452 [U~RT7<w=2F7)V] #8BLTLE&W,
”-‘,,-t 914HST 2000. 12

36



Y8 8221

HHNo.| # 8 & 5 wmooR % # 3 B | FIEHD | FEEE TR
1 692178 | ¥ v X Assy 1 3.8
2 808534 | VY VA Ty s 1 45
3 * 805101 | A L= 1 4
8 807795 | 7'V — ¥ Assy 1
9 * 807688 | JY—% - HAXF v b 1
10 690751 | g W& - X2 4 1
11 691556 | 7Y —HF + Fa—7 1
12 * 806190 {25V —Z - HAUrob 1
15 805048 | A AN KLY - TF 1 0.1
18 808847 | 2T v U — R - HIv— 1
20 * 805049 (AL —IL 1
22 692540 | A2 o 9
87 * 690680 | HNF LT b - —0L 1
276 690704 | =YV T Ty Ty 1
439 * 692154 (O VT - —0 1
552A 805412 | HNo SV - Ty 1
572 690686 | 7 —H - FL— b 1
615 805417 | H/XF L v+ 7 b - UTFT—F 1
691 * 690680 | HNF T T b -0 1
718 690684 |y —F 4 T 1
Q@ IESIIRENo121 F v 7L & - Fy MIBEhET,
* FIFSIZRAN03S8 H AT v b - &y MIFEhET,
AFIBEEIZRANO1033 /S T —s3—F—L - F v MIFEhE T,
Mg BTEEhEZBDE Ty TIBRELGVET,
2000. 12

37



8221 &Ny KEB

TJS57x4)

BTHEh TVWAEHRE 7Ty TYRRTT,
KENERGRIE AR I 7 > THEHTENDET T, UNTIZaTILESRBLTLEEL,
SRR No.271452 [U~NT =1 7IL] 28BLTL LA,

1,,..& 914HST 2000. 12

38




PNy K88 8221

RtiNo.| ¥ & & 5 il A % PN ¥4 = fE¥ | FiEEA | ERTE
5 808381 |~ Y v & « ~y FAssy No.l 1 0.7
5A 808382 | v v & -~y FAssy No.2 1 0.7
7] %2 806085 | YU VAEANY KR - HAF v b 2
13 805097 |V VAN F 22 4 8
33 807681 | =¥V —Z b - LT 2 @1.2
34 807680 |4 v F—2& - LT 2 @1.2
35 805937 |[/NLT - 2Ty 4
40 805092 |7 - Y F—F 2
40A 807683 |V - ) F—F 2
45 262679 | /ST - 2y b 2
192 807623 | Ty HT—Lb - FTVXRA 4
337 491055 | Z/S—2 « FI 2
635 805529 | A/ S—o T F 4 - T — 2
830 691544 | Ty AT — 4 - AA Y K 4
868 805094 | /NLTHA K - —0 2 1.7
871 805084 | HA K - TV 2 1.8
1022 | *A 806039 | T A HIN— - HAr v b 2 0.2
1026 805352 | w4 vy F (ZF— 8l 2 0.7
805617 | v ¥ a -y F (7 I8 2 0.7
(my — 2 MANZ O LEH)
1029 691543 | v FH - T— 4 4 0.8
1100 690973 | T v AT —24 -84 2y b 4
@ HEZIIRANo121 Fx 7L g - Fvy MIEEhET,
* FIRSIZRANO3S8 HAr v b -y MZEEhET,
AHIERSIEREN0.1033 /N L T A ==Kk =L - F o MIFEIhE T,
R B TERENLEDDRIT v TUBRELYE T,
2000. 12

39



8221 A7 —U~ZFK—IK - -OvHhHH/N—FF

BTEELhTWARIE 7y TURRTY,
KEIEBRIE R FHC Y - THERETENDPET ST, URFIZ2T7LESRBLTEE L,
EREA No.271452 [UNRT =17 ] #SBLTLEEW,

"”'t J14HST 2000. 12

40




A1>F—9I3 k=LK -QyHhH/IN—Z 8221
8

RifiNo.| & & & 5 & SR A % L2 g [RIEN | e T
50 807802 |4 v F—2 - vodh—LE 1
51 % 805700 | A v F—2 - HAr vk 2
51A | *4& 805023 | AV F—2 - HRAr v b 2
53 690711 | NFAA 2 Y A 2
54 690676 | ~NARX ) o 4
122 690691 | F v TL & + AX—H 1
276 | ¥ A 805420 | 7 v i % 4
522 491832 | 74N T 5 =D TR 1
524A | * A 691312 | 74 F—T 55 - —0 1
812 A 805019 [y - F b 4
1022 | x4 806039 | T whHIN— - H Xy b 2 @0.1
1023 691494 | T H - HIN— (#2V Y VX)) 1
1023C 690910 | v H - A= (129 ¥ ) 1
Q@ HFSZIZIREN0I121 F+ 7L & - F o MZEEhE T,
* FIESIZRHN038 H A v b - £y MIEEhE T,
AHIFSIERANO1033 /S L T A —i3—Fk— )L - F o MIFENF T,
Hfpch B TEHENEDOR Ty TUBRELEVET,
2000. 12

41



8221

72270 %7 b EXMER

BTHEN TWB3RRRE 7yt TUBRTT,
K ENERER I IR ) FHC Y o > THHTIEFDETY, UNRTIZ2T7LESRL TS,

IBEA No.271452 [UNRTVZ 27| #8BL T EE W,

vre

914HST

42

2000. 12



7727 %7 b EXMCEE 8221

HifiNo | & & & 5 N S R ] L2 A |5 | AT
16 692161 |27 v %7 b 1 25
17 690752 | k—n - RTFY VY 1
25 807619 | ¥ Z b v Assy (STD) 2 @16

807807 | ¥ A I » Assy
(0254mm A —/N—¥% A4 )
807809 | ¥'Z b Assy
(0508mm #*—/"—H4 )
807811 | & b Assy
(0762mm A —/3—H% 4 )
26 807620 |V ¥~ -+ , b (STD) 2 @14
807808 | Vv & - & b
(0254mm #* —I/5—H% A4 X)
807810 |V v -tk
(0508mm *—/"—H 4 Z)
807812 (Y v - & , b
(0762mm #*—/"—H%4 )
27 690683 | KA by -1,y 4
28 807621 |¥Z bV - ¥V (RA V& —F) 2
29 807900 | 2% F 4 o -1, b 2 @17
807803 | I X T F 4 Vo - Ty b
(0508mm 7V & —H%AX)
32 690698 | 27 Y 4 4
46 691557 | H o - T 1 08
146 94196 | 44 IV o - F— 1
377 806066 | 774K 4 — - F— 1
598 807625 |7 s % -k s b 1
(¥ ) v 2 OGNz & HH TEE)
741 805675 | #4 I vy - F7T 1
1025 690689 | H/3F « AT — L 1

Q@HIESIIHRENo 121 F v T L & - Fo MIFEIIT,

* FIFSIZRAEN03S8 H Ay , b - &y MIFEhZ T,

AHIFESIZREN0 1033 3L 7 —n—F— L - F ) MIEEFhEd,

MeEch M THENABOR Ty JURRELEYE T,

2000 12

43



8221

v L A5

125

BTHEh TWEHRET Yyt TUEBRTY,
K HIERSR I ) FHC M 7o > THA T BV RLETT, UNRTYZaT7LESRBLTEIL,

B No.271452 [UNRTF< =17V #8BBLTLEE WL,

e

914HST

44

2000. 12



v JL A8 8221

RiNo.| 3 &= & 8 8 B £ B # " % | Rkhif | T K
51 % 805700 |4 v F—2 - HAUr v b Fr TV AL -N=k-015 1
91 807919 | 7 w3 - KT 1 Assy 1 05
94 @ 3808257 | 7TAFALTU X b LT 1
95 690718 | Ay T F - A2 Y 4 4
97 807720 | Av .y b - V¥ T b 1
98 808177 | Ay b - {2 S ) 4 1
102 @ 805541 |F+TLAKRF4 - HAr o b 1 0.5
104 @ 690723 | 7u—trkyY . ¥y 1
105 @ 805547 |=—FL - 3L T 1
108 690719 |Fa—2 - LT 1
109 807722 | Fa—2o - ¥ 7 b 1
117 @ 3806652 | A4 -Txwy b 1 1.2
125 808249 | ¥ v 7L 4 Assy 1 1.0
127 ® 690727 |vLF TS5 1
130 690726 | 21w ML ST 1
133 691510 |+ 7L & - 77—} 1
142 @ 690725 |FxTVLH XN 1
187 208049 | 7T - 54 1
231 805025 | AU 4 1
240A 493629 | 7o X)L - T4 LA 1
255 @ 690721 |Fa—vvy T b Ty 1
276A @® 6950724 |-V VT -TyTy 1
385 693169 | 22V o 2
387 808656 | 7 1 - Ky 1
601 95162 |HK—X - 23507 6
628 805247 | A2 ) 4 1
633 @® 690722 [ Fa—I v TP —N 1
788 691559 | KT - T34 o b 1
807 @ 805557 | Au vy bJL - AX—H 1
918 393815 | NFa—4b - k-2 1
947 807664 | 7o x - JL /) A4F 1
955 807723 | F TV & - TS5
971 690720 | A2 ) = 1
1091 @ 691516 |V 3IwH - FrwS 1
Q@ HIFFIIRENo 121 F+ 7L & - Fy MIEEhE T,
* FIFHIZRMNO38 H A v b - 2y MIEFEhET,
AHIFRSIEREN01033 N T A — 8 —F—JL - F o MIBFGEHhES,
HfEh B TEREN DO Ty TVESBRELEDET,
2000. 12

45



8221 I 77 —FHB

BTHRERTWABREI T v > TVSBRKRTT,
K ENEREIE I (I /e > THBERIEFDETY, UNRTIZ2T7NESBLTLEZN,
EREL No.271452 [UNRT2 227N ]| EBRBRLTL AL,

m 914HST 2000. 12

46



I77')—78 8221

RiiNo.| & & & 5 W % R 1% L2 A% | RN | g T
161 691561 | 7 &) —F - XN—Z 1
163 % 805655 | 7Y —F - HAF v b 1
423 692537 | 7o) —FR—RZ « A5V 4 4
445 304018 |7 - 7 4 L& 1 0.1
467 491875 |72 ) —F HN— - I T 1
643 805631 |72 Y —F - JF—F 1
833 690872 | A& Y 4 2
862 692153 | 7 ) —FHUT A + 5 v 7 1
967 272490 | X7 - 74 LA 1
968A 807862 | L7 Y —F - HIN— 1
996 691577 | F v TL & - Y= F 1
1004 690743 |7 - &£ b 1
QHIFSIZRENo 121 F+ 7L & - F o MIBGEhE T,
* FIFSIZRHANO3SS H Ao b -y MIEEhE T,
AHIFESIEREN01033 /3L T —s8v—FK =)L - F o MI&Eh T,
MEER B THENAZDDRT v TURRELYET,
2000. 12

47



8221 AANWNTI—7

525A

BTEHEFhTWIBRRT7 v TUBRTY,

K ENEEERIE AR FIC Y o> THBTENPVETT, UNTIZaTLESRBLTIEEN,

IREL N0.271452 [UNRT 21 7I] #BELTLEEL,

Prt

914HST
48

2000. 12



FANTIN—T 8221

AHNo.! & % F 5 ® & % & 4 L= g | R | e TR
188 805247 |FNARX Y 4 1
239 491657 | A A NT VL vy - 24 v F 1
273 * 690681 (OV V& -V —J 1
468 % 690690 (O v - v —) 1
479 692537 | SNAZX 2 4 2
523 693175 | Fy T AT 4 v & 1
525A 693174 |AANT 4N Fa—TF 1
529 693172 | A4 NT 4N =0 1
565 690682 | AR & o F - B 1
596 691492 | ANAZX 2 Y 4 2
737 690679 |ANFAAZY 2 2
750 692539 | ANFAX ) 4 2
816 690706 [T v - Ty Ty 1
965 690745 | A A NE YT - Hov— 1
988 % 805250 | AANTHETE - HAr vy b 1
1017 690900 | A ANEYT - XL Y -V 1
1024 693185 | A4 N - KV T 1 1.0
1027 492932 |+ A4 - T4 RA 1
1028 808235 | 74L& - THT A 1 0.2
@ HIFEZIIRENo 121 F v+ TL 2 - 9 MIBEhE T,
* FIBEIZRENO3S8 HAr v b -y Mz&EhE§.
AHIBZESIERNNO1033 /S T F —/¥—FK =L - F o MIEEhE T,
XfEh B CHENE-DBDRT v TURRKELVET,
2000. 12

49



8221 B

507
@ 520, &
72 373359® B
®
578
334 &
1054A e—ee———— )
474
332 9105

BTHENRTWABREIT7 vy TUEBRERTT,
KENEBSAIEER) Y > THEILEFDETT, UNRTFIYZ2T7LESBLTLEZ Y,
EB&h No.271452 [T =17 BB TLEE W,

v*t 914HST

50

2000. 12



TRE 8221

RHNo.| B H &5 B A E4 P £ L ¥ | | e T
23 808766 | 774k 4 —1 1 0.9
332 690887 | F v b 1
333 492341 (¥ %2y b FeFaT 2 @0.3
334 805407 | AT =4 BRUAANEEZX LY 2 8
359 691077 |T w2 - Ty vy 1
363 19203 | 794 K4 -0+ T—F (PR T H)
373 90576 | #—3IF N -F vk 1
474 393295 (AN K 3 — & 1 1
501 304890 | L ¥ L& 1 0.1
507 398525 |4 VAL —4 1
520 691084 | #— I+ N 1
526 805448 | L X 2V AREE - A2 2 YATEGEY SRS Y 2 2
578 493792 |7V F - 94 Y 1 0.4
729 690586 | 74 Y -2 T 1
851 493880 | r—7n - 2—3IFN 2
878B 399916 |ANLZFX—& - AXZ R 1
910 691552 | 22 Y 4 4
1054A 280275 | r—7n - 44 1
Q@ HESIIHAEN121 F ¥ 7L 4 - £y MIEGEhET,
* ISR NO38 HAr v b -y MI&EhET,
AFIBRSIEREN01033 VL T — /N —k— L - F o MIEENZ T,
HeEch B THEN-BOR Ty TVERRELYET,
2000. 12

51



8221 H1&Eand

BTHENTWABRR 7y TUBRTT,

KEIERSR ) oY o> THELEFPETT, URTIZ1TILEBRL TLEEL,

IREA No.271452 [U~NT 2 17)0] 2#B8BBLTLEE L,

.‘,x’..lz 914HST

52

2000. 12



SiiEamEl 8221

RitiNo.| ¥ & & 5 ®OR & 14 22 R | Ferkuitr | s T
73A 690475 | 7T 4 k4 —N - HIN— 1 0.1
74A 805026 | 7T A4 K4 —NHIN—+ ZAH Y 4 4
78 690688 | A& — & HIi— - 22 4 1
304 808055 | 7w - Ny UH 1 0.6
305 692539 | 7R INT DY S RUEAIN—Z S 4 17
506 690677 | 22V = 2
529 690744 | Z’a X vy b 2
573 690902 | /Sy & « FL — b Assy 1 1
727 690714 | A& — & « HhIv— 1
865 690901 | 7 HA F - Ho3— 1 0.9
865A 690750 | L7 H 4 K - Hov— 1
865B 691576 | T 7 H 4 F - hsv— 1 0.7
(No.1¥ V) v £ il

865C 691563 | L7 H 4 F - H3— 1 0.7
(No.2¥ U v &)

879A 690757 | F v TV & - HIN— 1

Q@ HB2IIRAN0I2LF+ TV H - Fvy MIGEhET,
* [IHRESIZIREN38 HAr v b -y MZEENET,
AHIESIZREN0.1033 /3L T — =K =L - F o MIFGEhZ T,

MfEh M THEINADBDORT vy TUEBRELNET,
2000. 12

53



8221 > bkO—JL.<w TS5

BTEHEh TWABRET v TIBRETT,

K ENEBER IR B S e > TIHBRIEFDETY, UNTYZ2T7NESBRL TSN,

EREL NO.271452 [UY~NRT <=2 TFI] #EBLTLEEWV,

*re

914HST
54

2000. 12



arbhO—JLe v 758 8221

RiNo.| % & 5 8 BB £ PN 4 = fEE | RiEEA | Y T
188 805025 | ANAX 7Y 2 4
203 690923 | Fa—2 - -avtu—n 1
209 691507 | Hi/NF - A TY v 1 0.3
209A 805453 | N FTA KL - ATy V& 1
212 690712 | Avw b - YV 1
216 690705 | Fa—2r -V 1
222 808454 |y bu—n - 7 IF4 g b 1 0.3
227 690236 | H/SF - Lv— 1
232 805465 |V v - AT YV 1
265 21535 | r—v vy o307 2
267 805762 | AN 1
278 690237 | 7 v ¥ 1
300E 690931 | v 7 7 1 0.2
437 805158 | AfA 2 Y 4 (=7 ZHUT) 4
505 690238 | F v b 1
562 690239 | AN FLIN— « ER b 1
883 | *x A 805024 | TFV—Z b HAF v b 2
1054 280275 | r—7n - 24 1
@ HEFESIIHANOI2L F+ TL 4 - Fo MZEEhZ T,
* B2 IERMENO3S8 H Ay v b -y MIEEhET,
AFIBBITHANI033 /S T A —N—=F =L - F v MIGENET,
b BTEHENE-BDRT7 v TUBRELEVET,
2000. 12

55



8221 X2 —-—ZE— 488

[3098B]
5108]

S0
S

@ 697 %

1051AQ®

§

803B

503

3108

BRTCHEENRTWASRRE 7 vy T UESBRTT,
WENEREA ISRV FHIC K- > THEKTIEPVBTT, URTIZATLESRBL TE &N,
IREL No.271452 [T =12 7Iv] #BBLTLEE L,

v*t 914HST 2000. 12

56




Aa—2F—28 8221

RHiNo.| & & & 5 B o@m % K 1 = fE% | FRIEHA | R0 T8
309B 691564 | A& —4 - E— 4 1 0.8
310B 496880 | AR 4 2
311B 496887 | 77 v - &y b 1

503 691532 | X4 —4 + AT 9T 1

510B 496881 | A& —& - F534 7 1

544B 690855 (A X —4 - T~<F a7 1

697 805247 | SRV 2

801B 808777 | K747 - Fx v 7 1
802B 496813 |V F - Fx oy 7 1 1.0

TREfSmES !

496887 |77 -ty b 1

803B 690854 | A& —& - NNy Uy 1

1051A 691124 | VT —F - Yo 1

Q@ HBEIIRHNoI121F ¥ 7L & - 9y MIEEIhET,
* IBE2I3RHNO38 H A r v b -y MEEhET.
A FIHESIERANOI033 /S T A =i —F— L - F oy MFEhFET,

ERR BTHREINEHBDRT v TUBRELVET,
2000. 12

57



8221 HX4F vy bty bk

358 H Ay bk-tyv b

95744 TA | x4

Q)

439 © 163@ 524

468 691® 276

177 2 ) 9 |
213 O 1 63A 524A D
o

BTHRENTVWIMRET v 2> TUBRETT,
KENEBGR LB FHC S e > THBRTEPDETY, UNRPIZ2T7LESRLTLLEEN,
#Bh N0.271452 [UNRTIZ a7 )] EBBL T 2E W,

v*t 914HST

58

2000. 12



HAry bty b 8221

HitiNo.| & & & & ®wO®m &% 1 i A% | RIHh | ST
3 * 805101 |AA4 N -v—n 1
7] %A 806085 |V vy&A~Ny b HXHr v b 2
(2 — F96033100L1K%)
TA| %A 807986 | YU ANy b HZ7ry b
(=2 — F96040100L /i)
9 * 807688 | 7Y —H - HRX& o b 1
12 * 806190 |2 TV o r—2 - HAr o b 1
(2 — F97043000L1F%)
% 805112 |2V r—R - HA» v b
(21 — F97050100LL i)
20 % 805049 |AA N - —0 1
51 % 805700 |4 ¥ F—2 - HAr v b 2
51A | *A 805023 |4 v F—% - HA v b
163 % 805655 |TTF7 o VY—F - HAry b 1
163A % 805003 |7 H VY —F - HZX7 v b 1
177 % 805386 |[Fr v T - v—0 1
273 ¥ 690681 QY V¥ v —N 1
(X4 NLFEYT)
276 | A 805420 | ST HIS—S —L - Ty 4
358 808390 | HZx 4 v b - &y b
(7 — F97043000L1F%)
807989 | HZAX A v bk - £y b
(22 — F97050100LLH7)
439 * 692154 |(OV Vo -V —n 1
(25— HIN—)
(2 — F97043000L1F%)
% 805198 |QYv& - v—N
(2 — F97050100LLH)
468 * 690690 OV V- —n 1
(Voo 7oTF1—7)
524 * 281370 | JANFa—T -0 1
524A | #4A 691312 |74 LTS5 - -0 1
691 * 690680 | AN F L 4Tk T— )L 1
883 | *xA 805024 | LFVU—Z b - HAr vk 2
988 * 805250 | H A4 w b 1
988A * 690687 | H AN v b
1022 | * A 806039 | Ty H—HIN— H ANy b 2
Q@ HIESIIRAENoI21 F ¥ 7L & - F oy MIEEIhE T,
* FIRESIIREN03S8 HAr v b -y MI&EhE T,
AHIHESIERMNO1033 /L T =N —k— L - F o MIEEhET,
MEEh B TEREN-BORTy L TURREL)ET,
2000. 12

59



8221 F v b/ix—"Y

1033 NNV TH—=N—=FK—=J)L - F v |k

B

7 |52

AL I

Q

276 ©® 51A 524A ©) 883 812 €

1215+ L% - %y b

1270 14 142@ N7 @ 94| 1091

633 @ 105@ 276A

BRTCEELTWABRB 7y TUERTY,
I ENER R I FHC e > THBRIBENWDETT, UNRTRZaTIESRBL TEEL,
EREL NO.271452 [Y~RTw=1T7I)V] EEBLTL &L,

v*t J14HST 2000. 12

60




*v bIN—"Y 8221

R#No.| & 2 & & B % &% & % L E% | REHif | A T
71 %A 806085 | Uy AAy R - HZX4¥ryb 2
(2 — F96033100L4F%)
TA| A 807986 | UV HANy K - HAXH& b
(2 — F96040100LLR1)
51A | *A 805023 |4 v F—2 « HA 7 v b 1
94 @ 805257 |74 FILFEE . LT 1
102| @ 805541 |+ 7L & - HAr vy b 1
104 @ 690723 |7Ju—btbry -y 1
105 @ 805547 |=—FHL -7 1
117| @ 69081 | A4V -V xy b 1
121 807850 | ¥+ 7L & - Fy b
127| @ 690727 | xhF - T35 1
142! @ 690725 | FyTL & - I XN 1
255| @ 690721 |Fa—2xT b Ty 1
276 | A& 805420 |7 v ¥ % 4
216A | A& 690724 |V =YV F Ty 1
524A | %A 691312 | T4 NTFH - V=N 1
633| @ 690722 |Fa—r v T -v—N 1
807| @ 805557 | Ay b - AR—H 1
8121 A 805019 |y - F o b 4
883 | *A 805024 | TFVU—RX b - HZXH oy b 2
1022 | *A 806039 |y h—H/)N— - HFA¥ o b 2
1033 808392 | /NI TH —/N—FK— - Fy b
1091 @ 691516 |[U3Iwg - Fx vy 1
Q@ HESIIRENo121F+ 7L & - F oy MIBEhE T,
* [IHREIZRENO3S8 HAr v b -y bZE&EhET.
AFESIZREN01033 /S T — N —F =)L - F v MIFGEhZT,
R BTEREN-BOR T v e TUBRELY T T,
2000. 12

61



good newdays

ARSLLELLVR RS

rrt

7 W e i e
(iR % % 3

T105-8575 R ERHX 2 #1-6-38
TEL.(03) 3452 - 4311 (kft&)

BETm BRI IRIER

KPL-8221



	Return: 
	Body: 
	Engine: 
	Top: 


